

500 West Big Beaver Troy, MI 48084 troymi.gov

CITY COUNCIL AGENDA ITEM

0

Date: April 25, 2022

То:	Mark F. Miller, City Manager
From:	Bob Bruner, Assistant City Manager Dee Ann Irby, Controller Kurt Bovensiep, Public Works Director Emily Frontera, Purchasing Manager
Subject:	Standard Purchasing Resolution 2: Award to Low Bidder Meeting Specifications - Hauling and Disposal of Dirt and Debris

<u>History</u>

- The work includes the hauling and disposal of broken concrete and asphalt, fill dirt excavated from water and sewer repairs, and catch basin sludge and street sweepings.
- The current contract expires April 30, 2022.

Purchasing

- On March 31, 2022, a bid opening was conducted as required by City Charter/Code for one (1) year requirements of Hauling Disposal of Dirt and Debris with an option to renew for one (1) additional year.
- The bid was posted on the MITN Purchasing Group website www.bidnetdirect.com//city-of-troymi. Two hundred and forty-one (241) vendors were notified via the MITN website.
- Six (6) bid responses were received. Below is a detailed summary of potential vendors for the bid opportunity:

Companies notified via MITN				
Troy Companies notified via MITN				
Troy Companies notified - Active email Notification	9			
Troy Companies - Active Free				
Companies that viewed the bid				
Troy Companies that viewed the bid				

<u>MITN</u> provides a resourceful online platform to streamline the procurement process, reduce costs, and make it easier and more transparent for vendors to do business with the City of Troy. <u>Active MITN</u> members with a current membership and paying annual dues receive automatic electronic notification which allows instant access to Bids, RFPS and Quote opportunities with the City. <u>Active MITN non-paying members</u> are responsible to monitor and check the MITN website for opportunities to do business with the City. <u>Inactive MITN member</u> status can occur when a company does not renew their account upon expiration. Inactive members cannot be notified of solicitations or access any bid information.

• After reviewing the bid proposals, it is being recommended to award contracts to the following three (3) low bidders meeting specifications by line item at the unit prices as detailed below:



500 West Big Beaver Troy, MI 48084 troymi.gov

CITY COUNCIL AGENDA ITEM

Purchasing (continued)

Item	Est Qty per Ton	Price per Ton	Est Total Cost
Maloney Trucking			
2. Broken Asphalt	5000	\$8.50	\$42,500.00
4. Catch Basin Sludge and Street Sweeping	1500	\$22.70	\$34,050.00
Ahern Contracting Inc.			
1. Broken Concrete	3000	\$7.94	\$23,820.00
Universal Consolidated Enterprises			
3. Fill Dirt	7000	\$10.45	\$73,150.00
Estimated Total Cost			<u>\$173,520.00</u>

<u>Financial</u>

Funds are budgeted and available through the Public Works operating budgets for the Streets and Water Divisions for the 2022 and 2023 fiscal years.

Recommendation

City Management recommends awarding one (1) year contracts with the option to renew for one (1) additional year to the low bidders meeting specifications, *Maloney Trucking, LLC of Troy, MI* for line items 2 and 4, *Ahern Contracting Inc. of Chesterfield, MI* for item 1, and *Universal Consolidated Enterprises of Roseville, MI* for line item 3 for an estimated total cost of \$173,520.00, at unit prices contained in the bid tabulation opened March 31, 2022; contracts to expire on April 30, 2024.

CITY OF TROY BID TABULATION

ITB-COT 22-13 Page 1 of 2

HAULING/DISPOSAL OF DIRT AND DEBRIS

VENDOR NAME: CITY:				Ahern Contracting Inc Chesterfield, MI		Jackie's Transport Northville, MI		Latigo Transport Imlay City, MI	
PROPOSAL: One (1) year requirements of Hauling and Disposal of Dirt and Debris with an option to renew for one (1) additional year.									
-	EST QTY (TONS)	DESCRI	PTION	PRICE/ TON	EXTENSION PRICE	PRICE/ TON	EXTENSION PRICE	PRICE/ TON	EXTENSION PRICE
1	3,000	Broken concrete with and without wire, possibly mixed with fill dirt.		\$7.94	\$23,820.00	\$10.64	\$31,920.00	\$11.35	\$34,050.00
2	5,000	Broken asphalt possibly	mixed with fill dirt.	\$9.94	\$49,700.00	\$10.64	\$53,200.00	\$11.35	\$56,750.00
3	7,000	Fill Dirt, material excava sewer repairs as well as Material may include cul large stumps, logs, and contain unsegregatable cement, dirt and metal.	\$13.99	\$97,930.00	\$10.64	\$74,480.00	\$16.00	\$112,000.00	
4	1,500	Catch basin sludge and	street sweepings.	\$29.00	\$43,500.00	\$29.89	\$44,835.00	\$26.95	\$40,425.00
	ESTIMATED TOTAL:			\$214,950.00		\$204,435.00		\$243,225.00	
	Can Mee	t Disposal Schedule:	Y or N	Y		Y		Y	
	Contact Information: Hrs of Operations		Hrs of Operations:	7:00a.m 5:00p.m.		7AM-5PM		8AM - 5PM	
			24 Hour Phone #:	810-343-0403		248-344-0047		810-343-3371	
	Site Visit	Date:		03/30/22		Did not visit		Did Not Visit	
	Disposal Site:		Pine Tree Acres Landfill		Arbor Hills Northville		Pine Tree Acres - Eagle Valley Landfill		
	Approved Site:		Y or N		Y	Y		Y	
	EPA Permit #:		4169		475946		Blank		
	References: Y or N		Y		Y		Y		
	Insurance Met: Y or N		Y		Y		Y		
	All or None Award: Y or N				N		N		
	Payment Terms:		Net 60		Net 30		Net 30		
	Warranty:		N/A		No		Blank		
	Delivery Time:		48 hours		48 hour notice		48 hours		
	Exceptions: Y or N				Blank		Blank		
	Acknowledgement: Y or N				Y		Y		
	Equipment List Provided: Y or N				Y		Y		
	Forms: Y or N			Y		Y		Y	

CITY OF TROY **BID TABULATION**

HAULING/DISPOSAL OF DIRT AND DEBRIS

	VENDOR NAME:			Maloney Trucking		S.A. Torello Inc.		Universal Consolidated Enterprises	
CITY: PROPOSAL: One (1) year requirements of Hauling and Disposition year.					Troy, MI Port Huron, MI Roseville, MI al of Dirt and Debris with an option to renew for one (1) additional				
ITEM #	EST QTY (TONS)	DESCR	IPTION	PRICE/ TON	EXTENSION PRICE	PRICE/ TON	EXTENSION PRICE	PRICE/ TON	EXTENSION PRICE
1	3,000	Broken concrete with an possibly mixed with fill c		\$8.50	\$25,500.00	\$12.00	\$36,000.00	\$11.20	\$33,600.00
2	5,000	Broken asphalt possibly	mixed with fill dirt.	\$8.50	\$42,500.00	\$18.00	\$90,000.00	\$12.85	\$64,250.00
3	7,000	Fill Dirt, material excava sewer repairs as well as Material may include cu large stumps, logs, and contain unsegregatable cement, dirt and metal.	\$14.00	\$98,000.00	\$18.00	\$126,000.00	\$10.45	\$73,150.00	
4	1,500	Catch basin sludge and	street sweepings.	\$22.70	\$34,050.00	\$29.00	\$43,500.00	\$22.75	\$34,125.00
ESTIMATED TOTAL:		\$200,050.00		\$295,500.00		\$205,125.00			
	Can Mee	t Disposal Schedule:	Y or N	Y		Y		Y	
	Contact Information: Hrs of Operations:		7:00AM -5:00PM		7:00AM-5:00PM		7:00AM - 7:00PM		
	24 Hour Phone #:		24 Hour Phone #:	248-379-6565		810-602-6475		586-248-2250	
	Site Visit	Date:		Visited but date blank		Did not visit		3/29/2022	
	Disposal Site:			Oakland Heights Landfill		Eagle Valley		Oakland Heights Development	
	Approved	d Site:	Y or N			Y		Y	
	EPA Perr	mit #:		Blank		MIG000015055		Blank	
	Referenc	es:	Y or N			Y		Y	
	Insurance Met: Y or N				Y		Y		
	All or None Award: Y or N				N		N		
	Payment Terms:		Net 30		Net 30		Net 30		
	Warranty: Delivery Time:		Blank As needed		Blank Upon Request		N/A 48 hours or less		
	Exceptions: Y or N				Yes		Blank		
	Acknowledgement: Y or N				Y but not signed		Y		
	Equipment List Provided: Y or N				Y		Y		
	Forms: Y or N		Y		Y		Y		
				l ow bidder meeting specifications by line item					

Low bidder meeting specifications by line item

ATTEST:

(*Bid Opening conducted via a Zoom Meeting) Scott Carruthers

Beth Zaccardelli

Andrew Chambliss

Emily Frontera

Jackie Ahlstrom

Emily Frontera **Purchasing Manager**